Birzeit University
- Department of Mathematics
math 233
First hour exam — Spring 2013
Narme : ¢

Number:,

QuCSﬁOﬂ#i (i 5 %) Which of the following statements is true and which is false
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Question #2 a}(9%):Write the converse ;contrapositive and e
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b)(6%} Write a useful negation for each of the following statements
1) Some text books are either expensive or not easy to read
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Question # 3 {10%):Test the validix y of the following argument
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Quest10n#4( | O%) Without using truth table prove that the followmg are eqmvalent
® — q) A (r —> q) s equivalent to (p v r)——»q
Hint: you can use any of the following (p — Q= ~pvg
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Question #5 (27%):Prove the following X+ = -
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2)Let pun e Z prove that if m)ms even then m is even or n is even
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3)For any sets A.B prove that If p(A) — p(B) Then A< B
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Question # 6 (15%): Prove or disprove
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2)Some prime numbets areeven— (T )
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Question #7(8%) Assume that for cach natural numbern, A =
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